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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 953 1.8 0.5 2 87.8 100

2 952 6 1.9 8 75.6 99.9

3 947 3.1 1.3 4 78.6 99.4

4 940 3.2 2.2 5 64 98.6

5 950 2.9 1.4 5 58.7 99.7

6 951 1.7 0.6 2 87 99.8

7 842 1 0.9 2 50.3 88.3

8 953 4.1 1.4 6 67.8 100

9 939 2.3 1.4 4 56.8 98.5

10 932 2.3 1.4 4 58.1 97.8

11 944 1.3 1.2 3 41.7 99.1

12 943 2.8 2.2 6 46.4 99

13 884 2.2 1.6 4 54.1 92.8

14 948 2.8 2.5 6 47.3 99.5

15 935 2.3 1.4 4 57.4 98.1
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Sticky Note

The two expressions for the base angles of the isosceles triangle have been equated, and the resulting equation has been solved correctly, giving x = 25 for 3 marks.
Unfortunately, the candidate then makes no attempt to substitute x into either of the expressions for the base angles, instead giving the value of x as the final answer, so no further marks are awarded.












 


 



Sticky Note

This candidate has equated the sum of the two base angles to 180º.  This approach is incorrect, so no marks are awarded.



Sticky Note

Note also that the candidate indicates that the value of x is the same as the size of angle BAC, making no attempt to substitute into either of the expressions for the base angles. 












 


 



Sticky Note

A fully correct solution is given here.  The value of x is found to be 25, gaining the first 3 marks.  
This value is then substituted into each of the two expressions for the base angles (providing a useful means of checking, in case they were different - though it would also have been acceptable here to substitute into one expression only).
The size of angle BAC is then correctly given as 20º for the final 2 marks.
(Note that, had this been a QWC question, the lack of labelling when evaluating angles ABC and ACB would have caused concern.)












4.	 The diagram shows an isosceles triangle ABC where AB = AC.


	 All angles are measured in degrees.


	 Calculate the size of BAC.	 [5]
$


Diagram not drawn to scale
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Sticky Note

There is an attempt to multiply the brackets here, and four terms are produced.  However, the candidate has added 18 and 2 under the square root symbol, rather than multiplying.  This is incorrect, so no marks are awarded. 
(Furthermore, the sum of the two square roots of 20 become 20 in the next line, indicating confusion between adding and multiplying.)












 
 


 



Sticky Note

There is an attempt to multiply the brackets here, and four terms are produced.  However, the candidate has added 18 and 2 under the square root symbol, rather than multiplying.  This is incorrect, so no marks are awarded.
(Also, the next line does not follow correctly from the first as, again, there is confusion between adding and multiplying.)












 


 



Sticky Note

A fully correct solution is given here, with the final answer of 32 gaining 2 marks. 
A grid is used to multiply the brackets, and the candidates understands that multiplying the square roots of 18 and 2 produces the square root of 36, namely 6.
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13. TO BE VIEWED WITH DIAGRAM 
            2x(º) + 3x(º) = 180(º) or equivalent 
                          x(º) = 36(º)  OR  Angle ABC = 72(º) 
                 (Angle AOC =)   2 × 72(º) 
                                       144(º) 
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Use of cyclic quadrilateral 
 
FT 4 × ‘their x’  
Check diagram for answers. 
 
If a final answer of 216(º) is given, with or 
without sight of 144(º), award SC1 in place 
of final 2 marks 
 
Alternative method: 
Reflex angle AOC = 6x   
           OR Obtuse angle AOC = 4x        M1 
360(º) – 6x = 4x or equivalent                M1 
x(º) = 36(º)                                              A1 
AOC = 144(º)                                         A1 
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Sticky Note

This candidate equates the sum of the opposite angles of the cyclic quadrilateral to180º, then solves the equation correctly to obtain  x = 36º.   The first 2 marks are awarded for this.



Sticky Note

We then see that 36º is multiplied by 2 to give 72º for angle ABC (which is marked appropriately on the diagram). Then the angle in the centre is used to double again to obtain 144 - this should be the correct final answer.  Unfortunately, we see that the candidate then sybtracts144 from 360 to find the size of the REFLEX angle AOC rather than the required obtuse angle.
Only 1 further mark is therefore awarded, giving a total of 3 marks for the whole question. 












 


 



Sticky Note

This candidate equates the sum of the opposite angles of the cyclic quadrilateral to 180º, then solves the equation correctly to obtain x = 36º.  The first 2 marks are awarded for this.
No further marks are awarded as the candidate has given the value of x to be the final answer for the size of angle AOC.












 


 



Sticky Note

We then see that 36º is multiplied by 2 to give 72º for angle ABC (which is marked appropriately on the diagram). Then the angle in the centre is used to double again to obtain 144 - this should be the correct final answer.  Unfortunately, we see that the candidate then sybtracts144 from 360 to find the size of the REFLEX angle AOC rather than the required obtuse angle.
Only 1 further mark is therefore awarded, giving a total of 3 marks for the whole question. 












13.	 The points A, B, C and D lie on the circumference of a circle with centre O.
	 All the angles are measured in degrees.


Diagram not drawn to scale


	 Find the size of the obtuse angle AOC.	 [4]
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Sticky Note

2 marks are awarded for the correct final answer of 32 here.  
The candidate appears to have used the 'FOIL' method of multiplying brackets.
(Note, however, that a 'plus' sign has mistakenly been inserted between the brackets in the first line - though it is not subsequently used.)












 


 












 


 



Sticky Note

Instead of immediately expanding the brackets, this candidate has recognised that 18 can be re-written as 9 x 2, so that the contents of the brackets eventually become 4 times the square root of 2.
The final answer of 32 is awarded 2 marks.












 


 











